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B T F & | HEK - .
®mOH 5 T 158K | 15~645%% | 6554k
2y ¥ | 37,575 | 105,588 53,871 51,717 24,362 76,643 4,583
W% 1 T H 607 1,723 888 835 410 1,235 78
% 2 T H 840 2,312 1,187 1,125 449 1,702 161
W % 3 T B 618 1,748 893 855 293 1,254 201
W £ 4 T H 763 1,937 979 958 265 1,463 209
¥ £ 5 T H 550 1,406 733 673 210 1,022 174
Y¥REL1TH 1,079 2,555 1,285 1,270 392 1,969 194
¥*fRE2TH 1,430 3,562 1,830 1,732 753 2,612 197
YRE3THEH 771 1,932 995 937 389 1,439 104
& % 1 T H 1,055 2,102 1,119 983 395 1,626 81
i % 2 7T H 1,424 3,277 1,733 1,544 765 2,430 82
d & 3 T H 1,645 3,690 1,948 1,742 762 2,797 131
d % 4 T H 681 1,579 832 7417 336 1,203 40
[#® @ 1 T B 1,012 2,532 1,309 1,223 485 1,908 139
WL 2 T B 760 2,044 1,042 1,002 366 1,472 206
Wi 3 T H 708 1,959 993 966 328 1,407 224
WL 4 T B 1,371 3,569 1,847 1,722 802 2,563 204
WL 5 T H 634 1,658 876 782 348 1,249 61
Wi 6 T H 697 1,596 856 740 326 1,207 63
B+ R 1 TH 560 1,341 730 611 322 985 34
EtHR2TH 805 1,951 1,021 930 414 1,496 41
E+XR 38 TAH 923 2,157 1,160 997 498 1,617 42
B+ R4 THEH 519 1,230 673 557 256 936 38
®E+ R S5 TH 668 1,495 848 647 320 1,141 34
®H 1 7T 8 454 1,131 564 567 244 855 32
B ¥ 2 7T B 496 1,313 702 611 309 957 417
B ¥ 3 T H 509 1,670 825 845 415 1,182 73
gWMED1ITHE 18 29 20 9 2 26 1
gWMAEN2TH 21 417 31 16 8 39 0
gwiEn3TH 20 23 21 2 1 22 0
M 1 T B 217 797 381 416 156 621 20
= M 2 T B 465 1,645 831 814 467 1,143 35
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= M 3 T H 1,328 4,507 2,254 2,253 1,311 3,083 113
T M 4 T H 237 840 422 418 168 617 55
4 1 1 T H 325 780 375 405 167 584 29
4 1 2 T B 318 857 418 439 189 624 44
4 )1 38 T H 310 903 467 436 246 637 20
4 )l 4 T H 435 1,382 677 705 - 250 1,077 55
# X 1 T H 234 796 405 391 185 570 41
f X 2 T H 588 2,113 1,022 1,091 399 1,635 79
£ X 3 T H 475 1,643 843 800 324 1,262 57
£ K 4 T H 309 1,138 574 564 1254 836 48
% % 1 T H 1,157 3,021 1,574 - 1,447 694 2,171 156
w X 2 T H 1,099 3,034 1,553 1,481 646 2,234 - 154
A# 2 T H 752 2,683 1,345 1,338 810 1,825 48
A 38 T H 569 2,062 1,041 1,021 559 1,456 417
A 4 T H 526 1,534 811 723 324 | . 1,149 61
IA #/ 65 T H 310 1,162 556 606 290 837 35
A# 6 T H 766 2,776 1,346 1,430 770 1,933 173
£ K 1 T B 1,076 3,277 1,602 1,675 949 2,260 68
¥ K 2 T H 884 2,947 1,454 1,493 888 1,964 95
%2 & 3 T H 420 1,456 711 745 352 1,048 56
¥ ® 4 T H 462 1,648 792 - 856 384 1,184 80
¥ K 5 T H 926 3,180 | 1,585 1,645 902 2,208 70
# K 2 T B 665 2,405 1,182 1,223 711 1,629 65
= K 3 T H 27 95 44 51 29 60 6
H D H 8317 2,720 1,382 1,338 915 1,748 57
s 14 14 14 0 0 14 0
=2 W - 206 605 320 285 160 420 25




